Substitute numbers into formula

1.5 |

The formula for the perimeter of this parallelogram
Isgivenas P = 8a + 2b

b) Calculate the perimeter of this parallelogram if
a=5cmand b =4cm.
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Giventhat r=3, s=9,t=4and w = 10, find the value of v:
16 P pre——
Av=—-" dv=-+4+2 glv=tw+r
5 --------------------------------------------- 2 ------------------------------------------------------------------------------------------
b)v =4s+2 e)v=4r+w hyv=r2+s
Jv=s-—2 flv =rs+ 10 v =w?—t?
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Giventhat r=1, s=4,t=2and w =7, find the value of u:
P . L pe——
aju=—— du==-+4+2 iglu=tw+r
5 --------------------------------------------- 2 A T
b)u =4s + 2 e)u=4r+w hYyu=r?+s
cJu=3s—-5 flu=st—r P u=w2—rs
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Giventhata = -2, b =10, ¢ = —5and d = —6, find the value of e:
wid g p—
a)e =—o de=—+4+7 gle=c%>+b
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ble=a+c e)e=cd h)e = d? — c?
c)e=2b+3 fle =ab i)e = abcd
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Giventhata =—-2, b =12, ¢ = —8and d = —7, find the value of f:
aic R HHH—H P B .
a)f=T e)f=5—a )f=a%—c |
b) f =ab+c f) f=c?—a? j)f =d?—c?
of=d*-c g f=ac—d k) f = a’bc
df=c—d hyf=cd—b f=a-c—d
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